
Model No.6822 DRYWALL  SCREWDRIVER



Model No.6822 DRYWALL  SCREWDRIVER

Item 
No. Parts No. Description

Interc
hang
eabilit
y

Q'ty New/
/∕ld NoteO Note2

11O 0872OO42 P-ILLIPS INSERH TIH 242B O 5

11O4O 08726O40 *TIH 242B /∕ O

112 0878104+ MA9NEHIC C/∕NNECH TIH 6.GB46
1

O 5

1124O 0878OO48 MA9NEHIC C/∕NNECH TIH 6.GB46
1

/∕ O

11G OBOB6O47 L/∕CAH/∕R C/∕MPLEHE O

117 72O6GO46 D3SH SEAL RIN9 O

11B 2OGG0G47 /∕ RIN9 22 O

116 7O60B64+ L/∕CU RIN9 O

110 2G2OB740 LEAK SPRIN9 O 5

1104O 2G2OB740 LEAK SPRIN9 F O

118 +OOO0G4G PAN -EAD SCREW M7<7B G

11+ OBOB6242 9EAR -/∕3SIN9 C/∕MPLEHE O

1O1 72OG+248 RIN9 21 O

1OO 2G21B14+ LEAK SPRIN9 O

1O2 2O611O41 SHEEL TALL G.B O

1OG 22GO1040 SPINDLE O

1O7 2GGO264B C/∕MPRESSI/∕N SPRIN9 6 O

1OB 2681G74O PIN 8 O 5

1OB4O 2B66++4O PIN 8 S O

1O6 22677748 -ELICAL 9EAR 76 O

1O0 2B67G+40 PIN 7 G 5

1O04O 2B676042 S-/∕3LDER PIN 7 /∕ G

1O8 2O2+BO40 H-R3SH NEEDLE TEARIN9 O12G O 5

1O84O 2O217047 H-R3SH NEEDLE TEARIN9 82O S O

1O+ OB1++047 9EAR -/∕3SIN9 C/∕VER C/∕MPLE
HE

O 5

CO1 26G1124+ R3TTER PIN 7 O 5

1O+4O OB2+1+4G 9EAR -/∕3SIN9 C/∕VER C/∕MPLE
HE

S O

CO1 26G1124+ R3TTER PIN 7 O

121 2BGO+246 KLAH WAS-ER O7 O

12O 2OO1GO46 TALL TEARIN9 618LLT O

122TX BOO06848 ARMAH3RE ASS'Y 221V O

CO1 27O88O4B KAN B2 O

DO1 INC. 2O_2G_27

12G 68O6O741 INS3LAHI/∕N WAS-ER O

127 2OO1264+ TALL TEARIN9 620LLT O 5

1274O 2O112B48 TALL TEARIN9 620LLT /∕ O

12B 2BGO+246 KLAH WAS-ER O7 O

126 7O1+2G48 TAKKLE PLAHE O

120EX 6G+G164B KIELD 221V O

128 +OOB8O48 PAN -EAD SCREW M7<BB 2

12+ G7G71041 -/∕/∕U O

1G1 8BOG614O NAME PLAHE 6822 O

1GO OB002B48 M/∕H/∕R -/∕3SIN9 O

CO1 26G1O742 R3TTER PIN 7 O

1G2AX O+O+B14O CART/∕N TR3S- CT47OB O 5



1G2AO O+B1O240 CART/∕N TR3S- SEH CT47OB /∕ O

1GG +OOO2746 PAN -EAD SCREW M7<O7 O

1G7 67B2BG41 N/∕ISE S3PPRESS/∕R O

1GBAX 6BO2B647 SWIHC- S9ELO16CV4OA O

1G6 7OO8B248 SWIHC- C/∕VER O

1G0 OBB+2848 -ANDLE C/∕VER O

CO1 8O061+4+ CA3HI/∕N LATEL O

1G8 +OOOBG4+ PAN -EAD SCREW M7<28 G

1G+ 6BO70846 SWIHC- VH<OO O

171 +OOOGG4B PAN -EAD SCREW M7<O8 2

17OTX 6801GO42 SHRAIN RELIEK O

1729X 66BG++46 P/∕WER S3PPLY C/∕RD O.1424B.1 O

17G 682BB+4B C/∕RD 93ARD 8 O

177 72O0+B46 SEAL RIN9 O

E17 6B71BO4O EARH- HERMINAL O

Please state Parts No. when yo,r order. Print Date 20/O2/212G


